36" x 21" Easy Reach with (2) Lazy Susans’

ASMBLY-EZR3621SS

] e

REQUIRED TOOLS

-
Z afl
~ ——

- iy
| - ) |_—
= @) = ) B ’1‘
i
: A
GLUE : >
p 1
|




36" x 21" Easy Reach with (2) Lazy Susans*

C/
@ > e

80 - #6 x 1/2" Pan Head Screws
8 - #6 x 5/8" Flat Countersink Screws

W2 14 - #6 x 1" Flat Countersink Screws

¢ N \),)\m. Hm\]m\}\]‘)\m \V]\‘;“.!.é«,‘m;\‘};]\ﬁ‘):]ﬁ\\;“?:ﬁ‘):
/

4 - #8 x 2" Flat Countersink Screws

PARTS LIST

Q® 1 x Face Frame

@ 1 x Left Back Panel
@) 1 x Right Back Panel
@© 1 x Left End Panel
(® 1 x Right End Panel
@@ 2-pc.Toe Kick
@ 2 x Fixed Shelves
© 2 x L-Brackets
@ 2 x165° Door Hinge
@ 2 x Screw-on Hinge Plates
(3 16 x Tan RTA L-Brackets
@ 16 x Tan RTA Connector Plates
(@ 2 x Door-to-Door Hinge
) 2 x Euro Screw Hinge Plate
() 1 x Cabinet-Hung Door
(@ 1 x Second Bi-fold Door

*Assembled cabinet is 33" x 33" x 21"
deep, but fits in a 36" x 36" space

IMPORTANT NOTES:

Before you start assembly, inspect all panels and
hardware to ensure you have everything needed. In
addition to the tan RTA Connector Brackets supplied, we
recommend you run a bead of white wood glue into
each groove as you assemble, to create the strongest
cabinet. We also recommend laying the panels on some
cardboard to protect the finish when assembling.

ASMBLY-EZR36215S



TOOLS °
NEEDED

8- #6x1/2" Pan Head Screws 4 - Connector L-Brackets

Lay the (2) Frame components (A1, A2) face down on a
smooth surface and install (4) tan RTA L-Brackets (K)
using (8) #6 x 1/2" Pan Head screws



Next, screw the (2) Frame components (A1, A2) together to
create an 90 degree V-shape using (4) X8 x 2" Countersunk Flat
Head screws



Parts List

16 - #6x1/2" Pan Head Screws

TOOLS
NEEDED

bracket
locations

o

Connector

¥ Ensure the central locking
| hole on the plate is located
away from the edge
of the panel

) @\@ G

8 - Connector Plates

Place the (2) Fixed Shelves (F) on a flat smooth
surface and install (8) tan RTA Connector Plates (L)
using (16) #6 x 1/2" Pan Head screws

IMPORTANT: Do not fully tighten the
screws. The RTA Connector Plates need to
be slightly loose



Parts List

4- #6x1" Flat Head Screws

*Spacer Block may be preinstalled at the factory

Mount the 6” x 6” Spacer Block (S)
to one of the Fixed Shelves (F) using
(4) #6 x 1" Flat Head screw. This is
now the ‘Lower Fixed Shelf’



Apply glue in all grooves

GLUE

TOOLS NEEDED

Apply glue in all grooves

Place the V-shape Frame on a flat surface with the
back of the frame facing up and apply a bead of wood
glue to all the dado grooves



Parts List

Carefully insert the (2) Fixed
Shelves (F) into the grooves in the
frame so that the L-Brackets (K)
and Connector Plates (L) snap
together. Ensure the shelves are
fully seated in the grooves. Now,
tighten the Connector Plate
screws and secure the Connector
Plates and L-Brackets with (4)
locking screws: #6 x 1/2" Pan
Head screws




Parts List

- e

8- #6x1/2" Pan Head Screws 4 - Connector L-Brackets

Place Left and Right End Panels (C and D)
on a smooth flat surface and install (4) tan
RTA L-Brackets (K), as shown, adjacent to
the horizontal grooves, using (8) #6 x 1/2"
Pan Head screws.



Parts List

> @\@

16 - #6x1/2" Pan Head Screws 8 - Connector Plates

Next, install (4) tan RTA Connector Plates (L)
on the End Panels, beside the rear vertical
groove, using (8) #6 x 1/2" Pan Head screws

IMPORTANT: Do not fully tighten the
screws. The RTA Connector Plates need to
be slightly loose



Run a bead of wood glue in all grooves in the End Panels (C and D)
Parts List and insert them into vertical grooves in the back of the face frame,
so that Fixed Shelves (F) fit into horizontal grooves in both End

Panels and L-Brackets (K) and Connector Plates (L) snap together.

*Toe kick notch

*Ensure that the Lower Fixed Shelf, with spacer block,
is located in the groove directly above
the toe kick notch

*Groove directly
above the toe
kick notch

Align the End Panels (C and D), tighten the
Connector Plate screws and then, secure the
Connector Plates and L-Brackets with (4)
locking screws: #6 x 1/2" Pan Head screws




_ Ensure the central locking
Parts List hole on the plate is located
away from the edge
of the panel

v
[

0

8 - #6x1/2" Pan Head Screws 2 - Connector PIates 2 - Connector L- Brackets

TOOLS
NEEDED

Place the Left Back Panel (BL) on a flat smooth surface
and install (2) tan L-Brackets (K) and (2) tan Connector
Plates (L) using (8) #6 x 1/2" Pan Head screws

IMPORTANT: The RTA Connector Plates
need to be slightly loose. Do not fully tighten
those screws



Parts List

8- #6x1/2" Pan Head Screws 4 - Connector L-Brackets

Place the Right Back Panel (BR) on a flat smooth surface
and install (4) tan L-Brackets (K) using (8) #6 x 1/2" Pan
Head screws



Parts List

TOOLS
NEEDED

Apply a bead of wood glue to the horizontal grooves in the LEFT Back Panel (BL) and to the recess
along the back edge of the Left End Panel (C). Install the Back Panel (BL), as shown, so the (2)
L-Brackets (K) snap into the Connector Plates (L) Now, fully tighten the Connector Plate screws and
secure the Connector Plates and L-Brackets with (2) locking screws: #6 x 1/2" Pan Head screws




GLUE

TOOLS NEEDED

Apply a bead of wood glue to the horizontal grooves in the RIGHT Back Panel (BR)
and to the recess along the back edge of the Right End Panel (D). Install the Back
Panel (BL), as shown, so the (4) L-Brackets (K) snap into the Connector Plates (L)




Parts List

Carefully turn the cabinet over and make sure it is square and plumb. Now,
fully tighten the Connector Plate screws and secure the Connector Plates
and L-Brackets with (4) locking screws: #6 x 1/2" Pan Head screws




Parts List

Check cabinet is plumb and insert (12) #6 x 1" Countersunk TN -
Flat Head screws thru holes in Back Panels (BL, BR). Tight-
en screws into Fixed Shelves (F)




Parts List

4- #8x1/2" Pan Head Screws 2 - Silver L-Brackets

TOOLS °

At the toe kick cutout, attach (2)
silver L-Brackets (G) to End Panels
(C and D) with (4) #8 x 1/2" Pan
Head screws




Parts List

2- #6x1" Flat Head screws 4 #8x1/2" Pan Head Screws

N\

< il
2\ _d
4 = 8 >
\

Assemble the L-shaped Toe Kick (E1, E2)
using (2) #6 x 1" Flat Head screws and attach
it to the silver L-brackets on the End Panels
(C, D) with (4) #8 x 1/2" Pan Head screws




Parts List

W

6- #6x5/8" Flat Head screws

Determine on which side the doors will be
hung and install (2) Hinge Plates () using
(6) #6 x 5/8" Flat Head screws




Parts List

W

8- #6x5/8" Flat Head screws

Lay the Cabinet-Hung Door (O) face down
on a smooth surface and install (2) 165°
Hinges (H) and (2) Door-to-Door Hinges (M)
using (8) #6 x 5/8" Flat Head screws



TOOLS -
NEEDED

Lay the remaining Door (P) face down on a
smooth surface and install the (2) remaining
Hinge Plates (N) using the Euro Screws
pre-mounted in the plates




Attach the Cabinet-Hung Door (O) to the
cabinet by clipping the hinges (H) onto the
Hinge Plates (I)




Parts List

(@)

A

Apply Bumpers

Now, attach the other Door (P) by clipping the The hinge plates can be adjusted in (3) direction to correctly align the (2) doors
Door-to-Door Hinges (M) onto the Hinge

Plates (N) and install (8) clear bumpers



CONGRATULATIONS!

*Installation guide for the
rod-mounted Lazy Susan
mechanism is packed with
the Lazy Susans




